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Question Booklet Code SLRC_ 2 02 2

D Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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BERIRE

51 09:55 JHIT HITS LHPITOI e |

OMR €3 “Iq9 IYR JEWU® Wa Te05! e 917 S9TS &miht AR I 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o HITRCE WA Ml SHFES /@ET *a© YAR FHa P AR, 2I_IT (DS 217w
FHS P A2 FAIF TS IF TSI OMR TG IF eI Fwes ol
RIS SIS | GRICT! 2[RI oS /e “Iqe fasia 3 JAFe 1903, (SR & (SSTEF
s 31 4f9 @RI Ea |

o A FNT AFEN (9 LAWEAT B4l (rough) FW eXFIFoS i@l sizeE F 1 |
AN 461 (rough) FI TG A1 Al B (FIC! 476 FloIErs I R | T 7o I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 T&H #[@q Jeie 341 7929 |

o T 2T AT AHIF @ Vg OMR T&T a2 ¥l 27 | G 20 I WF IRIA
SreRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=Ifw ¢z 8 OMR Ted 7o
ERJFCT T, LFTOT T, 2G| ARG @ ATl /F 2N -5 I 7 PR
R |

o [SFPIT Y 2 TN HF eWFFoe 100 b & AR ST TS0 &R @ 1.50 THI0P
2 |

o & TG AT (PITA! WM 77 AT |

® IFAIRIR © TR I A FINET OMR TG 2[q® &l /F 3l &1-936 (02 T2
A AN |

o “RrFIFI (OSTEIR ARA To M @ erTire erpRR RO 279, @ PN,
ST, 0T, oM ST RAE! | @2 CFgS ARG A TRFIS @I 4701 s 1 3K
(oIS SRR 2o 3R TRFREDBIR2. 2T Wi Jfe1 9o A |

Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
TR, AR 4= 9 LAFIFOI T <D’ QfFe OMR TEF #44q s diZ® D’
foriRa wnfor =tie e 3@ ‘D Tt a1t $fa7 AR | erpies et s e s
TR TGP G IF ARHToL Feie A 37 |

o I T GJil FIT WICS 2N FHFT oS OMR TEGF [ FNCS LRFIFOIE
ol v AR | SepRt sfRiEem SpritEs 3 Rt 27 |
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et

Pl 09:55 B TS a’ &= 1l |

OMR &3 “taq 3L Jebre W Texlh e TR +[tf erifh R 1o 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
for® 207 |

o FrFiaE IR e ToIRERs /@I #Ita YAIF FHFA 0o 2, AR Od 2100
FCF P 2429 FAF T R ORI OMR T@d7[@ @3k 2#afb s ol (e
TR | I IR Toifels /@iel #ita A SRR F 1l I, IR0 OIS SlES qE
/e[y T 204 |

o SIS AT G ARG T (rough) TS %08 (ST BT FACS ARE | 2wl
TG (rough) IS TG 1 T (FIF R FI9E FICS AR 1 | AW 27wt @3 270!
(rough) FT& TEIICq FCA, OCF G2 TELIGH TeNR Pl 204 1 |

® 7T TR & AT ¢Fh g OMR Tea7@ e X | G T A WF TR &
SRR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eq B | *[IIFIE (12 U8 OMR TeReIta ei%tas
T, ePEITR (T TSI AR WY 131 /I IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H7itg 100 b &p A 3R TSP AT &) 1.50 757 F¢F A
R |

® o TG T (I YO 7 AP A |

® 5% O (FTF G A OMR TGIGT 1161 /FICE I - @B (7] 2T FACS 2(A |

o AN ST R T TS 2@ @ 2R e GEN ITSIRE 2[ | @- SPIaRl,
e, AT, TR @R TG | @3 CRG TGN ORI (I LIPS T (@0
P B0 BRG] SHANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
TriizgerE, AR ST eroltad (IS ‘D’ AFE OMR $6390a7 R =2 D’ forits 23
R B 38 D’ T I T700 2@ | 2RIt (I SPTES GEE SRR ek Rl
TR0 R GR 2E#IAD I FACS T |

o ! T Is TR “tf A (NAFCPT TS OMR T@geitas Aozt @ryeiafG e fires
T | & = e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame See
T 3riTe @umRTe Wil dEE JEE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsh amaw 3 gaTs
WA 3T&AT TSI ST BT AT €T €51 SH1E ST |

o fsrrEmn Maft MaE Y@M THT ST rough FERE GiFME faagaad @l g |
feA=@™T rough TEE! TR foeTsaE T oA TEWH @RS SEREl gFE T8 |
foemgama IfE & rough FTETE! WIEH! 376eT T foaTsE! Y™ Q™ STH™ FT |

o TTHE FHEMA U™ e THe” OMR A= faems A wrme | mRf Seen 19
o st st T fererte @ s = |

o T faags @rmE TH OMR ™ faars gm@ sme | femmamn & &1 OMR
ATATE AT - : TR foers =m0 d@m foemst &', et w's smfe safest
e el TS T S-St ot e |

® IHIEH THT 2 U= IR AHM fSelsard 9 100 HifY U= 3T WFhHE! SiAEeE-l e
Tt e 1.50 T YT |

o I fFrafy ara™ Sel g’ R 19 |

o foAERT OMR T foretrsama @fet fier TRl W Seu-siEl et Qi@ 317 Qe
AT |

o 31rare B fift gleenty e marme arfgamn @it @ faemst ey gimer me
Taie SIrTH, SR 3rEHiE, s7ar, U, &< AR 3Ui | o ST Jres sl T BiEeEE s -
51 TET GRS TSI ST SUSTE BIATeHRG@ T H1s BT S5 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g A | fafefr anfed femreramen wiemm wiem e %'e <D @t feam faemef &
R G e &'er ‘D’ oAt Arna ot for st e e A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ YT § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =1 gnm |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /ST TR T @ | SeTeuRaEy, e udenef fi wva gfere @t @i ‘D’ @, @ OMR
IW-U= | hig ‘D’ fera 2nm 3R 9= D’ =Rl Hien A1 2w | afe uvA yfeent § 8w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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W6 SRS BIZ SRl (F@S 11

A) IR (B) WRRTIR

(C) =it (D) fozaiR
ARG SAES Bf N (O W 2 :

A) =R (B) ez

(C) © (D) fozai2
SRETATE Y 918 fafe= e way=t gamnan ?

(A) R (B) 2rehelrs

(C) dmg (D) farg

STETe ferd =T STgEYT XA 1 718 §aisy |

A) @ (B) <kt

(C) <M (D) fémrg
Name the tea research institute at Jorhat.

(A) Tarai (B) Tocklai
(C) Tamoi (D) Tingrai
/2 ST PR (2R :

@) iz (B)  IFIT AT
(C) el (D) ZTS!
/23 SRR PAMCaT I 2 :

) iEH (B) IR AR
(C) el (D) WAETE
firfafém s TerteT drayEf gam ot 2

(A)  wsfa (B) SRR GER
(C) SEmfd (D) SSHTeA
AT o T Tieh! 1 AT FATST |

(A) wsd (B) wEaR HHR
(C) S (D) sgHTAd!
Name the first talkie in Assamese.

(A) Bhaiti (B) Baruar Sansaar
(C) dJoymoti (D) Indramalati
TTReTi® TAPTRT (i< T 39 TSP SEES ?

@A) fom (B) I

(C) <5l (D) =99
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foTc Srafe e Iy @I I9E SASTRR SRS ?

A) (B) IRREI
© P D) =
MR §6 <HTAT Sh ERATE € 2

(&) fewiin (B) Fwma
(C) wnfadt D) wg
fFefrfgd i @ A H A s A H @ 7

(A) feshim (B) BfmEm
(C) wnfadt D) wg
Which of the following river is in the Barak Valley ?
(A) Dikrong (B) Kushiyara
(C) Boginadi (D) Bharalu
SR IS 356 15 2

A) @R (B) %
(C) ™=t (D) =zS
SIS AT ol 2

A) QTR (B) w18
(C) et (D) oMY
STTHTH( FTGTHTSATN SIS | 2

@A) =z (B) A
(C) 9= (D) I
3TEH 1 UShE I T8 ?

(A) B (B) %
(C) = (D) e
What is the State Tree of Assam ?

(A) Hollong (B) Teak
(C) Saal (D) Peepal
SRR (I D12 AN SI1<E ZHEAN 1 Ffq SES ?
&) et (B) ToEq
©) TR (D) 2!
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T T2 @32 AR T4 I SR (I 20 SRS 2

(A) R (B) TTER
(C) THfHI D) =
T ekl TR e A1ed Aieu STEami §¢ SIRe € 2
(A) faemmR (B) Vg
(©) gyt =ht (D) &

TN HerehT 3TR gafia A1ere Hiet 3/m & fha A W g ?

(A) e (B) a9q
(©) g =t (D) =T
Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo

@51 FTHRE “41 SFCGI FTHRE FBe TR B[S Facel IR AESE
TAMCH! FfeTe Siferia =141 foeiie 41 |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

o St sifel @@ @ ESTRF TAMED GFH FERROR (ATF o FEACHIE
F2e FABRS TS 92 41 IR of {ofees B |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TERTE B 6 WG T AT (hardware) T8 SRR T TH HRIIHH dTgas
AT (file transfer) BRI ?

(A) BIOS (@)

(B) Hard Disk (gTEfee)

(C) CPU (drfy)

(D) USB Flash Drive (.74, 5ft. %I g159)

frfriad F=ht 8 39 FERR It 1 9a™ i, T Toh Hrafet ¥ ga HFYLL 1 HI5al i
TIMTAN i o T ST feman ST HhaT 2 |

(A) sE (BIOS)

(B) =®TE fe& (Hard Disk)

(C) .3, (CPU)

(D) 9.wd. & %o g5d (USB Flash Drive)

From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
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Ted SRe] Prg-oler Moo 1fEF Tl fZe wiERerey JeTgh| o[l us w1
TG (2R :

(A) IRICPIE STl (B) A=l S ey oo

(C) RSN s (D) IS “ileile el

e ©Ired PI-9MeR GRCE 79 ©INre SHES WiHelte TeTgh (A0F @I
S e FACR ?

(A) FRCIEN sl (B) Moo=l @R iy sl

(C) SRRE! *Ree (D) A sfiege sRewe

TS BTGNS AT-HRAT g -7 SRATHR Giel YRaf gaeh SRME! ST WIem! ?
(A) FHRH (B) HaqeT 3N faem=e

(C) et (D) YR U

IE YAl S I R o HRA -7 o HeM1 <] e f20ft HRA o gofeh o 3R ¥ 3717 hid! & :
(A) HRHHE & (B) dayeT 3R foed

(C) 3IEA IS (D) o YuIe IS

The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
AT ARG FIICH! T8 SRS ?

INEE ) (B) CIO&R

(©) g (D) ==&l

I 7B ST oPICe el =1l ?

(A) T (B) &

(©) T D) =T

AT T SRR ThtheTra sl TTTeT 1 ?

(A) T (B) e

(C) WIFYE e (D) T

Sireifirer ot i i A T HE T R 7

(A) o (B) B

(C) s (D) dren

Which colour is not present in the Olympic Flag ?

(A) Red (B) Green

(C) Purple (D) Yellow
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9. T Il 52T TR :

(A) T (B) iGAICal
(©) el (D) for
9. T IS ¥2F T4
(A) el (B) oGl
(C) =l (D) ferm
9. BTN ISUENAIIEE
(A) ST (B) wfeam
(C) Zar (D)
9. UE I UYL
(A) s (B) &
(C) Zar (D) oftm
9. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
10. TG B3 GIHHED ' SIS ;
A) TR (B) Fformel
(C) ZARM (D) g fral
10. TR 5P GIHE SAES :
A) TR (B) TPl
(C) ZTwWRM (D) 1S fram
10. ST Wi TFEESl M-I G 7
&) T (B) =hIefhIdl
(C) et (D) e feeedt
10. M ik TE=S TfRag |
(A) T (B) “hIeThrdl
(C) dausTg (D) s feeeht
10. The National Stock Exchange is located in
(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi
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11. [EfTe Siferma «[1 Freii S (osiE swmidll Hre i :
A) gofmN B) wifrE
(C) o (D) TFEfE
11. I SEis sifers! (@es e S (oufes Somi fifes 39
A) i (B) SIGIeRIN
(C) efmm (D) HrCHREN
11. TTERTE SHTEh R TUa-TaT e Smuhica amn saree! fmm |
(A) I (B) Hf=m
(C) 3IrTsIftrem (D) SsfiEm
11. Tr=afaRaa gt o wepfoes €9 8 o S arer FeaeT uered 6t gg=m |
(A) weItEm (B) Hf=m
(C) fferm (D) ShsfiEm
11. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
12. Sferel (@i6© &bl e faiwen (2=[id A ?
A) (B) s
C) = D) o
12. SRPRER @I AT 0@ 9 G (ARG 2T ?
A) +m (B) r®
© = (D) =i
12, Yicied STEEATITE TS SRS TTed Tl o= ?
(A) @5 B) @7
(C) @6 (D) =18
12. diciiet §, Sfd & fepa Raemdl e d 8 & 2
(A) wH= (B) ¥m@
©) B (D) 31
12. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(C) Six (D) Eight
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13. fforie imEs @m<e e Sesifs fera o[ 727 2

Q) P (B) oAl

(©) T (D) Tl
13. Iy Sraie s S @b Sesife e s =i 2

@A) b (B) sl

(C) T (D) ¥l
13. TEEN 99 <A fEHTe THEThE TiEfEmg ?

) fayg (B) wm

(©) =g (D) e
13. frefafaa afeai @ @ =9 feaea @ & frepadi 2 7

) fayg (B) m

(C) =g (D) e

13. Amongst the following rivers, which one does not originate from the
Himalayas ?

(A) Indus (B) Ganga

(C) Yamuna (D) Narmada
14. o9 TIeeTS A T 010 23 :

(A) 100°C B) —-40°C

(C) o0°C (D) 4°C
14. ST S TG 2 :

(A) 100°C B) —40°C

(C) o0°C (D) 4°C
14. i Somdama e e S o 2

(A) 100°C B) -40°C

(G 0°C (D) 4°C
14. I <1 STedl JAferehed Bl 2 -

(A) 100°C B) -40°C

(€ 0°C D) 4°C
14. Water has maximum density at

(A) 100°C B) -40°C

(€ 0°C D) 4°C
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15. TG Keaaa (i *I141S 7=oifes Sesiive, feqel < Soirste) S5 SiE 341 27 ?

(A)  dlferey (B) =dqifs
(C) reaits e (D) ey
15. TP TSR 4079 Seaive, fege @3 I3 90 S 51 2
(A)  3lferey (B) wiefdife
(C) =g (D) HETog
15. &9 GUSERRTEa QeH-gierar fegam, TTaREr 3T ST B ?
(A) wrEh (B) T@I
(C) TSI fafiem (D) gur fafirm
15. 9 % IcTed, forawun 3 @Ud s S i STl M1 fofi= s a1 g ?
NI LI e (B) 31T
(C) TerHifa fosm (D) FHTSSITE
15. Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
16. (RS 7 =T I (TCd SPTeE S| o 03 2
(A) B9 (B) R
(C) R (D) o
16. 0 Safe oriesfer S0 GRIIG SISTICTR 708t SR SRemis 2
A) = (B) T
(C) SR (D) oI
16. TTETETE BHTH BIETH R TTe & BTel STTHTHST (|1 TeATRN ?
A = (B) Ut
(C) =R (D) Y
16. Tr=faRad o @ S o1 <x1 18| o Ty o7 A1 Har 8 7
A == (B) Jurel
(C) =R (D) e
16. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
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17. Tfere wereomzs (@ives SibiRets 7o s ?
(A) TEERE CT9 (B) *RIZH0 Wi
(C) TIv B&RT! (T (D) FFRI TSR OTg
17. 0 SRS Creefier I @i eTglb 54 B e ?
(A) TERRE TS (B) *=izaib ¢Tg
(C) TIF B&RTI (T (D) FFRITSN OTg
17. TERE EH SRR TR S TH3AT TS SHBTEE § 2
(A) =T (B) wgETe &g
(OB R EIC (D) =hiferamm &g
17. fr=ferRed geti # 9, 6 a1 qe8 qeff TH W g ?
(A) T &g (B) W T
(C) [ &SIt 9 (D) hefram4imy &g
17. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
18. OITOTT (PRI A AR TP S o w0 2
A T (B) e
©) =io (D) 7=
18. SIFCSH b Aey SR A AN Sl 2
A T (B) e’
(C) =i D) w5
18. WRAM HFeE TSI STEMSI T AT ?
(A) "H9 (B) W=7
(C) w= 8 (D) = 10
18. WA o fera Tsxr 7o % AT T TTen hd & 7
A) it (B) dm
(C) s D) <&
18. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
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19. 1st RIS, 2022 ACATE SPRET [Kewa @ 2
(A) TS TS (B) DECIIRA GRS
(C) T2 fepg =<t (D) rE Bw<!
19. 2022 EH 1st SRS SPIER Rawal @& e ?
(A) TSl el (B) SR ACGRIS!
(C) fers foms »fy (D) a2l
19. 1st SHeRl, 2022 B @M, @M T-T&T (finance) AR AR 2
(A)  3rrar fEm (B) =5 e Tl
(C) Tew= fore vt (D) WY BIITRT
19. Ugelt SHa, 2022 1 3EH & e Tt w8 7
(A)  FFIT 43T (B) <gHIE Jerll
(C) feva forea wmf (D) HIS[¥ &SITieht
19. Who is the Finance Minister of Assam as on 015t of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika
20. 31t Wb, 2022 ITATE TP P (F &) SR ?
INIR G (B) ~izfam
(C) Tofage (D) fes
20. 2022 AF 31st TMCH AP FOBTE! (STl e ?
A) e (B) ~iafae
(C) Tfae (D) e
20. 31stH™E, 2022 B AW M AHeH oo g 2
(A) TH 34 (B) @ 35
(C) @H 33 (D) = 32
20. 31U, 2022 % FEA H fhad St & 2
(A) =idE (B) Udtm
(C) ddE (D) w<itE
20. Ason 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
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21. fRfR® @M @fT gdifos Sermeie JFeE T=or TPy 8 Fuge s9ee 2o
qCF ?
(A) ESlED (B) “ife=iat
(C) fire (D) T
21. I SEie @M SLTifors g SomeHle oM SRR Nferpieide @3 g
qCF ?
(A) TETSiiEe B) et
(C) Wf¥rs (D) Ta®
21. TERH §¢ @ISR g fHarma méet fogrem $En e TRt Tl 2
(A) HHTSETE (B) Rfve
(C) TTATE-HI= @I (D) HHA @R
21. f=fefaa o @ form sredvmer o, ot ScuTes GETeR TR o Wi 3R o H ga 8 7
(A) FHTSETE (B) qofaret
(C) fubra (D) ==l
21. In which of the following economies, all productive resources are owned and
controlled by the government ?
(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
22, FEfe (IR TS T2 AR 1942 5719 SRS Sjiol STHE ST FIAMZeT 2
(A) PR o1F (B) I BRERN
(C) (% =Ifg Wl (D) @9ifs Twi
22. G SRS &I 2 1942 A T2 MR AR SRS RITSl SItWiEH SHE 23Re ?
A) RRS! o6 (B) I OGN
(C) PG TG Wl (D) @sifs T
22, TEEN §& SEHHT HETeaT M3 “YRd TR THEERAR @ 1942 HI8ArETd S
ST H 2
NI EISIRIE? (B) &M wfeam
(C) ATTEd il HeH (D) s HeH
22. I9 1942 T AT el g WA Bl 3eie FHefeiRad # & fohd Tom W e foram mam o 7
INIREEIEIRIET (B) sieH =feam
(C) 3R ohifd HaH (D) It HeH
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22,

In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?

23.

23.

23.

23.

23.

(A) Shivaji Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan

2022 B SIS T2 SR, TSPTSIS T FLE ST 2] e (2 ?
A) w56 (B) wpeT™

(C) ArerE (D) Teq T

2022 I SIEIRTS (I A0 ETTSI TEH S et 2

A) w56 (B) wpeT™

(C) r&Ee (D) Teg &

3 2022 AEYURIM IR GHHAHSE YRAH 8¢ TSial SHeH TSI Hed 376 S -ggsl srred
HH G ?

(A) HATH (B) HEI TeH
(C) TS=IH (D) ST T
el 2022 T, T<T THT § TaT1ereh il arelt T 2

(A) RS (B) HEI YW
(C) TRYH (D) I

As of January 2022, the state which has the maximum number of seats in the
Rajya Sabha, is :

24.

24.

24.

(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh
TFITE T T[T [T DI TS EHel e ?

Q) == (B) S0

(€) frpey (D) Hued

T ST erapIce] RO e Slre<y sifemfey Fafeeer ?

A) = (B) I

© sy (D) TEed

= T 3T AR TS GATSH TH1E WRASE raar™ Hame ?

(A) EWEET (B) 3

(C) forspra (D) HIFI
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24.

24.

TorE TSTT < BT o SR B ETT W 37T T ?

(A) wiadgR (B) 79I

(C) feorspr (D) HIFI

Hiuen Tsang visited India during the reign of the King :

(A) Harshavardhana (B) Ashoka

(C) Vishnugupta (D) Samudragupta

25.

25.

25.

25.

25.

fferfre @ 123 oo gtafes A9 (Economic Survey of India) &M
PE?

(A) BT T “ifsm (National Development Council)

(B) @ 7@ (Institute of Finance)

(C) SRR “Afey @fSdH (Indian Statistical Institute)

(D) &€ TZee™ (Ministry of Finance)

o Srafirema Ti @b Sikred wLfes A1 (Economic Survey) 25 FF 2
(A) GIORT Savgel “Ifsaw (National Development Council)

(B) @ (Institute of Finance)

(C) SRR AR 712 (Indian Statistical Institute)

(D) f&€ TFee™ (Ministry of Finance)

TTETATE BT SeI3TT $eh 14eh T1H 3T% il @i fegl ?

(A) T Sy YE (National Development Council)

(B) FIEe 37 Bis

(C) sfemm Rifeewd sEieR

(D) fuffer 3 wre-a

frefarfad & & s v w1 3TTfies ToeTT TehRTTd Shidt 8 ?

(A) T ferpr wftye (B) o wwam

(C) YR HRgehia T (D) T waTer™

Who among the following publishes the Economic Survey of India ?

(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute (D) Ministry of Finance

SLRC-2022/P-III/D 18



26. SIS SPINP KA HeIbe TellerE Srpisre RIF1 UDAN’ © ‘A’ 9f{Gg 51)¢f feieh! 15 ?
(A) N (Aam) (B) @39 (Air)
(C) <™ (Aakash) (D) @i« (Aviation)
26. SR PN KA berbel FEeIREE Sl Game ‘UDAN *=iiore ‘A’ 346
QIR ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
26. WRaH ffwe iy ffAferf geme ‘UDAN g9 fofammE, ‘A’ 31 91 et ?
A) ™ (B) T
(C) I (D) ufirEs
26. YA % AN IgSIH BT 1 Uged, ‘UDAN H ‘A’ ST AL 8 7
(A) Aam (B) Air
(C) Aakash (D) Aviation
26. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil
Awviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
27. %10 &9 (ST IR THRAR TS TANS (/A1 &2 SIS @il (Bl <5 2
(A) GG B) BHuz
(C) Tae’ (D) @™
27. %10 7% (I DR IS FeHRICT S0 (Flel SIS elfopie 2w Tofeie =7 ?
(A) GG B) Bhigx
(C) T (D) Rt
27. % 10 9RG shie ST S8 THT s« shiva 1 frfafeq srarit s 2
(A) THA (Airtel) (B) Ty (TCS)
(C) o (Wipro) (D) fmEE (Reliance)
27. B W B T 10 ARG HUS SR oo bl Tge T aTelt Tgefl WRA Ul 59 178 ?
(A) TeA B) d#@wm
(C) fom (D) freomE
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27. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance
28. = b elfowl w1 e 7 :
(A) SIS HCFTPI I A TETSSIR (BT
(B) Sl SR o] S O bk 39
(C) <o PR o= qEsF
(D) wfsatiet vz o< foeaer wht
28. FIE 7ol 2SS PRt :
(A) SINEIS AP G A TECOIR A5
(B) =l ST wifel @3 T[S b 3]
(C) <9T© PR G AEBF
(D) hose (TeF @R oede w
28. TS ! R TAEAGHM ?
(A) T 3TeEH A TSR ToeaaHHTs Teet
(B) 3% SATEH 3Tl ST U I i
(C) wiTafdg 3T TeNe
(D) TdfieATer J8% I e o
28. TS UTE shl TATIHT fohieh g1 b1 775 off ?
(A) i gt 3T AER GeavqTs ued (B) 31U 3THE 3Teft 3R guTeg 99
(C) wiTfiiE ST TSe (D) TidieTe Taw 37 e g
28. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das
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29. SRER MR (@0 Serm &, Tife, 39, o wF sTEe fofed RN 8 [
feTc =NIeaiel 3507 2
(A) SR 25 (B) SRR 13
(C) =1 15 (D) =7 19
29. SRR MR @ 1RICS &, Tifs, 3¢, o7 G TrEeR fefers (@@ Fare Wy
IR ?
(A) 257 g_l (B) 137 4=
(C) 15 R4Sl D) 19=R <«
29. WA HffeH o« QIR O0H, Bk, M, 3MUH A/ SIFY SR S
YRIGEATIE! 2T 8 2
A) @I 25 (B) @113
(C) w15 (D) @1 19
29. YA TiGUH 1 B 91 3Twde 9, Gerast, Sfd, Tl 3T S TIM o YR W 9T i
bl & ?
(A) =T 25 (B) =K 13
(C) ¥F= 15 (D) 31g=ae 19
29. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
30. WM Vel W2d AT Nl 1w (1) S
@A) ResE B) fa
(C) ITAm (D) oI
30. =RM et ¥R AT (37 o157 (1) AL -
@A) faeiom (B) fran
(C) 2RURM (D) ToEle
30. WigHg JTfee Mg et JTeT M2 WIFhT, e T (e TH=IE) IET |
(A) ST (B) feeedt
(C) gausTg (D) T
30. A TEE (E), GEHIE Tet I8 1 Hehaill fRId & -
(A) ST (B) feeedt
(C) eueg (D) T
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30. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is

located in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal
31. P e FRIRWRR TS S[Es :
(A) o] (B) WX
(C) 9=t D) fezore
31. SPT fHfeeoT TRIRveR e[S
A) e (B) w@R2G
(©) e D) e
31. E™ Afcehe BUIETTHRT 571 ¢ ?
A) oo (B) <iNETd
() e (D) festre
31. M Bfgehdt Hias fRa g —
&) foeR (B) wIRER
(C) T (D) fesrre
31. The Assam Medical College is situated in :
(A) Silchar (B) Jorhat
(C) Guwahati (D) Dibrugarh
32. SO HIBINT SIS (AT Rl 2 (6 PIfS 0o Sive 2
A) TR (B) e
(C) fefebenzremia (D) &I T
32. SIS TP SEUICo! FRie] BHL (SRR 0ot TS ?
Q) M= (B) sifo=are
(C) Tof&brRiRTe™H (D) A&l T
32. WA S@RH gaTG, oYM S5udyer, TeRH g6 aies ¢ ?
(A) BEIEE (B) TEN @M =
(C)  HAfSHRET T (D) TSI AT TS
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32. TUeM 35UV, WA TChR i Fohd T8 o T JST 7 7
(A) SRR (B) =i
(C) fefSreetterto (D) T=HT T

32. The mission Indradhanush, an initiative of the Government of India, is
associated with :

(A) Immunisation (B) Cleanliness
(C) Dagitalisation (D) Highway development
33. TSI ST IS B e TR FTlerie ! 30 s ?
(A) THA — SIfEg (B) A — =P
(C) IfEGY — el (D) sfefe — i
33. oo Srafis Joret! (dance form) 8 ©F TFHS TSI I I (@1 (SHIG o, 2
(A) THA — SIfEg (B) Al — =P
(C) @IfETRIGS — (D) <l — T
33. TEMTE BHTT & ST A %1 AR fafa 3immr gttt s 2
(A) &0 — A ATg (B) = — 3mEm™
(C) Hifetargn — shiet (D) 3ffeeh — sfifesm
33. FAfciftad & @ o1 |1 S1eT, T 1 3R 3o A TAT < HeH § 7Ted & 7
(A) I&TH — AT (B) @t — 31w
(C) tfefiargn — ohtet (D) ifeet — sifgen

33. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi— Odisha

34. PTNE @A G G (Ramsar site) TR (2R :

(A) A e (B) Wt
(C) DIgR et (D) foz-ToramEt
34. PR Q@ 11K 26 (Ramsar site) W‘H@&I@f :
NGB (B) IoweAl
(C) DIgR et (D) foz-ToraEt
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34. TERTE MM S9371 MMM 798’ Ramsar site Tl |

(A) A et (B) s
(C)  =Hgeht forem (D) feg-swrn
34. 3T9H T THAT THE A5 ST 2 :
&) fem e (B) sTeH
(C) =Iigsit sfiet (D) fes-G@ren
34. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa

35. FTRfeIiis Tgeer T2a I “@ib Iols, @b #be” SbiT (Its IS 72 ?
(A) =1 S “{f<RIeT Ferl TZeler
(B) &G TZelfor
(C) e =i g Saeel wEelew™
(D) S 37~ Tz @R
35. Fmfie TgemeEs @Eb “wib Tvie @b Reis” «Rrgmia e Wge 9 2
(A) =g ¢ AR Fepplel TFeler
(B)  &NCAE eIy
(C) el @ ferg Tzt qFelleTy
(D) SR =0/ o] TFCNR
35. RS BN e Fe fawmeET 9 s, 98 versi” wraeifaly gettest et i ?
(A) TEfE AR 1@ I T fawE (B) T3 Sirmeg Wt fawe
(C)  3Tssil 3R Ghean Smes o fswr (D) g Twae SmeTs w6 fowH
35. freferfiaa o & s o1 waer ‘S s=a, S Ut FIeHT shi ugel | IST T B ?
(A) TR IR YRER SHeATor qTel™ (B) umfior fereshe wEmer™
(C) wfgen v are feoremmar waTer (D) THe HETge forehE o™
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35.

Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?

(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

36.

36.

36.

36.

36.

femferf2e @R =M I TRIN 193 P Siive 723 ?

317.

317.

317.

(A) TS (B) =if&al

(C) T=ile (D) oI

focw Sraie @i =M 4fee (et AITed 105 & o 2

(A) gferIrST (B) e

(C) RS (D) SICHR!
TTERI S SR YT HereTail eiesl € 2

Q) g (B) TR

(C) v (D) wmERer
frerforRaa o & s o1 woH Yo &5 4 gela Ad @ ?

(A) gl (B) =S

(C) whmEia (D) HTEET

Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira

(C) Bongaigaon (D) Margherita
TR (TS TR “e 8 (a1 79 (GST) el 1 (2fee 2

@A) @ (B) T

(C) STl (D) S E4IZ
T O 212 o 8 G 9 (GST) IBAT PR 2

A) @il B) T

(C) FEITl (D) S

o greUd Satggsl R e 3 anfifd 29 (GST) 311 T  SI1el ?
(A) S (B) %=

(C) wTET (D) 3R
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37. 9% Td HaT KL (S.TH.A. ) TN B AT IgAT ¢ i HT AT ?

(A) S (B) %@
© wE (D) FTET,
37. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
38. OO QYT TR 17 © 52 [{e{ @ T D] T TR ?
(A) WPTS (B) dfwe *fiw
(C) =Pl (D) T
38. SROR MRUTH 17 R 4| @i [Keyfes g 3 2
A) WP (B) Ffem i
(C) =Pl (D) T
38. BN SaE! SERATES ARATR "fafadt @i 17 g1 aes g 2
(A)  TAHER (B) ST<1 8™
© T D) el
38. WA % WAL 1 3¢ 17 oheeh e 4 FEla 8 ?
(A) T (B) YT A
(C) AHd (D) &t gen
38. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

39. 1919 57 fTHIRS B! 961 A FRS =95 (2t ifeeT 2
(A) ST ET 2o T
B) TR O C FRF{E el
(C) % e
(D) @I 19 IS Tl

39. I St @iW woaifs 1919 @ s=afoe 21w ?
(A) ST SN2 A
(B) DB GPIERE TFIR (el 2
(C) oo
(D) QISR 7: S <ol
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39. TERM §& TR § 1919 AEZYRTT IRRGHH ?
(A) T THRH MRS (B) WIS — THBIEH BIEATESTHR
(C) sTAM TGS (D) SAfAATETAT ST FAREHT
39. Feffead @R A acm 19199 i gg oft ¢
(A) Tore uge i fepam man (B) Tidw™ =FHHIE UR i TE0M 6l T
(C) =TT 1 fareH (D) SfTITeTeT aF $i
39. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
40. TR MU bR o1 12e12 @ 7wrel IR FarEe FAF Bed 2019 b7 Gell2 117
S 91 (2T ?
(A) & =@ Sheg (B) w1 e e
(C) & 2 4 T S (D) &1 9ple S
40. T SERS @R ARG S 7 ¢ A 702 TAITS TR G 2019 N Gl
T SRS (T ?
(A) e ST (B) & M Sl
(C) wel f2 4 @ e (D) @ (518 SIS
40. TR §& AEUREE! § 2019 WEUHM JAE THIAE ‘3@ B¢ YFAE I @it
QRYTIE!” FTEHT A STEHEH ?
(A) et wiferq AR (B) it fereprsr i
(C) < & g g AR (D) I ST I
40. T G 3T TV YT H el A 6 fote Jorrg 2019 # freaferfaa @ & o e &
HI TS oft 7
(A) et iferq A (B) vt e safirm
(C) T & o & ™ (D) A =3 I
40. Which of the following schemes was launched in July 2019 to accelerate

water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) dJal Vikas Abhiyan
(C) dJal Hi Dhan Hai Abhiyan (D) dJal Bachao Abhiyan
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41.

41.

41.

41.

41.

‘A’ @ @I P 2R =l [T 1:00 Fee 1 M./ G @9 @) 998 -6 | B @
@3 W P I #[ G301 s f@fet 1:10 I 2 WL/ Grs @ore Tl Siee FEe | I
B A AT QTS AR, (S8 PQ I T :

A) 1.5R=M B) 1.75 .M

C) 1278 (D) 1.25 [,

‘A’ SR @ P SRR (AF [epe 1:00 9o &fs oats 1 MoK wos W 39 |
B e 1:10 PR G52 o< P 1S 952 Hfoqey @ifs ¢ieaes 2 [olk woor ial
WE I | AW B, A 99 12S Q wE [T 2 O PQ 79

A) 1.5R=M B) 1.75 .M

C) 1278 (D) 1.25 [,

‘A’ 31 P SRt 1:00 4.um. fomere 1 (. /As%<) @rurss geart | ‘B 31el § T
SR P s 1 v fame 1:10 fu.wm. fomma 2 fir. Ak @nesst geerE | i B
3T A’ G IR Q 31Te aAnTEHTset, PQ & smsan S

A) 1.5T6.f. B) 1.75f%.f.

(C) 1.2 f%.fa (D) 1.25 f.fu.

‘A’ IR 1:00 S 379 I T P& 1 AL /3. 6 Ifd B IE HaT R | B AT A 35§
WA P AR fem g guet 1:10 s 2 Y. /4. R 1fd & e Har 7 1Al B, ‘A’ 8 Q
WWﬁFﬂT%,FﬁPQﬁ@%:

(A) 1.5 fw.f. B) 1.75 w1,

(C) 1.2 Tt (D) 1.25 fep.1fi.

‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.

‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is :

(A) 1.5km (B) 1.75km
(C) 1.2km (D) 1.25km
SPACE FOR ROUGH WORK
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42.

42,

42,

42.

42,

T G AN o1 &AW 40% BT 91 B3 HiF ©F (1= 20% I 91 ' | To9 10
i #AfE (70 :

(&) 20% (B) 40%

(C) 24% D) 28%

G5 T IoT A 40% FAICA Be 4R OR#F 20% I 91 =91 | Y0 W16 ARS
W

A) 20% B) 40%

(C) 24% (D) 28%

T SETE SEAST fiifeama 40% @HET 3 SHHE 20% SRET | SEEH SEET e
EEESICIEARI I IELCl

(A) 20% (B) 40%

(C) 24% D) 28%

T a5 h! HHd H T8 40% h HHI h ST 7 R T 20% H ghg 6t It 7 | Hwa o
pEACRER LI

A) 20% B) 40%

(C) 24% (D) 28%

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :

A) 20% (B) 40%
(C) 24% D) 28%
SPACE FOR ROUGH WORK
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43.

43.

43.

43.

43.

forez oz (pfery @F 5l G Sl @ S @fSie ©f &=l a1 g a SAfRre
Iisfieres T 12 @R | I O 2w el T 12 @ 59 SNS I, (S8 30 Teq 5% &
RIRUECE RIS

(A) 25,420 (B) 5,580

(C) 25,620 (D) 5,780

feTer O Sl TORN G=SIE %6 T @ &ifofve O &1 I S(ICars el (s T 12 Bidl
T =Y | AW G722 e % 12 Bl ol T e 03 O feTenid (i 1963 30 e o
209 :

(A) 25,420 (B) 5,580

(C) 25,620 (D) 5,780

forstmen et YW S (Savings Bank) 3@ U QRYA! | S SRR feaisn aHshmat
S FOEEE SRYET foeiigg T 12 T SifeE S R | §fe o % 12 T2 9ty aefes
THYHATIGE ST 9 30 T3 Sammre forenty gty mé faeis =

(A) 25,420 (B) 5,580

(C) 5,620 (D) 5,780

AT 37 S=d Sk U 30 a8 O U9 ST et & fob 7 3nTer feq sweht s ufyr 3T fuse
fe <t s wir & % 12 31feres 71 | Afe 98 geat fed T 12 <1 st &, i oo g 30 feai s

37 | ST <61 T8 pot TR B -
(A) 5,420 (B) 5,580
(C) 5,620 (D) 5,780

Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with T 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) ¥5,580
(C) 5,620 (D) 5,780
SPACE FOR ROUGH WORK
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44. o ING (Data Set)
1,2,4,1,5,12,7,8,5, 1, 16, 17, 12
T g1 e 4 |
A) 8 B) 7
(C) 5 D) 4
44, o AFHI T e 59 -
1,2,4,1,5,12,7,8,5, 1, 16, 17, 12
A) 8 B) 7
© 5 D) 4
44, TERETE BT QINEFATH o1 @t AR |
1,2,4,1,5,12,7,8,5, 1, 16, 17, 12
A) 8 B) 7
(C) 5 D) 4
44, TG 6 ArferenT ITd HIRTT |
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A 8 B) 7
© 5 D) 4
44. Find the median of the data set.
1,2,4,1,5,12,7,8,5, 1, 16, 17, 12
A) 8 B) 7
C) 5 D) 4
45. ,JEEE!—J3§5!—Jiéxﬁﬂﬁﬁﬁﬁﬁﬁﬂﬁ
729 V144 81
5 7
(A) L B) 13
20 11
© —53 D) T
SPACE FOR ROUGH WORK
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45, 220125 16 g
729 V144 V81
5 7
A -2 B) - -
A) 5 (B) T
20 11
C) == D) ——
(©) o D) 26
[225 [25  [16
45. === [ = _ I fgm ?
729 V144 \81 feg
5 7
A -2 B) - —
A) 5 (B) T
20 11
C) 2= D) ——
©) 57 D) 26
[225 [25  [16
45, [22Z _ [ =2 |=— w19 A i |
729 V144 V81 M
5 7
A —— B -4
A) 9 (B) 1)
20 11
C) 2= D) - —
©) 57 D) 26
45. Find the value of %— ﬁ— E
V729 V144 V81
5 7
A -2 B) - -
A) 5 (B) T
20 11
C) == D) ——
(©) o D) 26
46. T G O 319 3 Jien ~AICET ARG BT ey Tofiesl i 7R | S2ARGIF F_T T
23
@A 3 (B) 4
€ 5 D) 6
SPACE FOR ROUGH WORK
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46.

46.

46.

46.

GFb SARRF FTRCE 3 74! IfHS T S BIF ©iters fow fee =7 | saienfhg o7
@A) 3 B 4
€ 5 D) 6

oY S@E@< (fraction) TASTHTET (numerator) 3 SRS § SRATE@GISAT foif
3/4 ST | § SRGTIEGI TSI STTe

@A) 3 B) 4
© 5 D) 6
re fepeft o1 o ST 6 3 i gfg Bt 7, A = d da-RuE A afg a2 | i s s g
4 3 B 4
©) 5 D) 6

When the numerator of a fraction increases by 3, the fraction increases by its

three-fourth. The numerator of the fraction is :
@A 3 (B) 4

© 5 D) 6

47.

1 o[ 2 N
\/; ’ \/g ’ \/; W \/; q W '
2 1
T 1

SPACE FOR ROUGH WORK
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4

3

1 11 2
N BN (=Y O et 5 Qe
R R

@) \E ®

(©) \/g ®
47. \g\g\gmgﬁmﬁmﬁmw

@) \E ®

(©) \/g ®

.. \ﬁ ﬁ \P s \/gé;aﬁ%rwﬁiﬁa%:
2 3 4 3
2
A) \/; (B) 5
1 1
47. The smallest among \/I, \/I, \/I and \/2 1S :
) 3 4 3
2 1
A) \/g (B) )
1 1
© \/; (D) 1

==

SPACE FOR ROUGH WORK
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48.

48.

48.

48.

B! TRAF FALG. 40 ST PIZeq 91ALE. 4 | TRYMEE “1efF 12 2@ Pized @iaree

2

29:

(A) 20 (B) 24
(C) 28 D) 32
v3(h FRAIF TN . 40 IR 9118, 4, AW 72 1267 /147 12 2 SR O @191 :
(A) 20 (B) 24
(C) 28 (D) 32

A IR §.31.491. (LCM) o1 S&™ 40 IR SR <.37.91. (H.C.F.) a1 9/ 4 |
Sife & SHRNET AHAMN ToRE UH BROTRRT 12 SR, STl o SHISET HHA grarenme
99 ?

A 20 B) 24

(C) 28 (D) 32

T AT 1 TA.H.TH. 40 B 3R 371 . H.TF. 4 2 | IS T3t & sf" 1 3 12
2, A EEH HI AR :

(A) 20 B) 24
(C) 28 D) 32
48. The LCM of two numbers 1s 40 and their HCF is 4. If the difference between
the two numbers is 12, then the sum of the numbers is :
A) 20 B) 24
(C) 28 (D) 32
49. J51+J134 1+ 542416 +/9 T :
(A) 52 B) 8
© 19 D) 9
SPACE FOR ROUGH WORK
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49. J51+J134 + 5142 + 116 + /9 FFIB T =97 -

A) 52 (B) 8
(C) 19 D) 9
49, TERE B TRTH AH fegT |
J51+J134+5J42+\/E+\/§
(A) 52 (B) 8
(€ 19 D) 9
49. i=fad
\/51+\/134+5\/42+\/E+\/§
WII'F{%:
(A) 52 (B) 8
(C) 19 D) 9
49. The value of the expression
\/51+\/134+5\/42+\/E+\/§
18 :
(A) 52 (B) 8
© 19 D) 9

50. 2 T3 23 SR SO 1 41, 3 9 239 FRCE ST 2 24 S 4 (J 239 PR Se
3 ! (313 TRAJITH! (=R :

A 25 (B) 41
(C) 13 D) 11
SPACE FOR ROUGH WORK
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50.

50.

50.

50.

GG AT 2 BRI Sl9) FACE ST 1, 3 7T Slol FACE ST 2 @G3R 4 &R Sl FHCE
SRIGEERCIITE

A) 25 (B) 41

(C) 13 (D) 11

A ARG 2 S TR TAEIRT SR 1; 3 S THATRTd THEgRT SR 2 3T/ 4 S
TS TR SR 3 | o STARSHRI SIe

(A) 25 (B) 41

(C) 13 D) 11

T T e 2 | fafora Bt B, A A9k 1 WA g; 3T WF G W 2 AN F=ar @ 34 T
AMSHA W 3ITTAATR, TE @ :

A) 25 (B) 41

© 18 D) 11

The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :

A 25 (B) 41
(C) 13 D) 11

51.

51.

5! TR 2 1 3 TIPS W2 AT PRET o178, W 9137, 8. § 77e=FT (20 96 | 74!
VBT Q@o1e] (202

A) 8 (B) 12

() 20 (D) 36

736 M TS 2 ¢ 3 R ST AL, IR AT, @7 R T 96, TR 73
(91pe] 29

(A) 8 (B) 12
(C) 20 (D) 36
SPACE FOR ROUGH WORK
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51.

51.

51.

T SFARNHET U TR 2 @ 3 IR @R 33791 (LCM) 3/ <.31.81 (HCF) &
HSTTERTIAT ST 96 | & Wi ST greemmagt fog |

A) 8 B) 12
(C) 20 (D) 36
T HEE 2 : 3% AT H & 3T 39 LCM 3T HCF 1 UHheT 96 & | TRE13T o1 AT 2 -
(A) 8 B) 12
(C) 20 (D) 36

Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers is :

(A) 8 (B) 12
(C) 20 (D) 36
52. W ‘A’ IHANT ‘B’ O 25% [@Z, (508 ‘B’ I 7AWl ‘A’ I TANZSCS Bl *SI 5 2 2
(A) 20% (B) 25%
1 2
C) 12=% D) 16=%
©) 5 (D) 2
52. MW A, ‘B’ (UTF 25% @ (@0 AR ©F ‘B’- 7 (@0 ‘A’ (UTF F© *O[H 9 2 ?
(A) 20% (B) 25%
©) 12%% D) 16%%
52. dfg A T3 semsn B f1 suafgg 25% sifim, sean B 17 9emsn A T semfrgs oo st
wH ?
(A) 20% (B) 25%
©) 12%% D) 16%%
52. JIf¢ A hIddd B hddd 8 25% 31fees &, I B T ddd A & 94 § feraT Ifaera 0 8 7
(A) 20% (B) 25%
1 2
C) 12=% D) 16=%
© 3 (D) 3
SPACE FOR ROUGH WORK
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52. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?

(A) 20% (B) 25%
1 2
C) 12=% D) 16=%
©) 5 (D) 3
53. ﬂﬁx:\/g,C\OC@x4+i4§WC§C§:
X
1 1
A) 9= B) 2-—
A) 9 (B) 9
1 1
C) 9— D) =
©) 5 (D) 9
53. Ax=J/3WOE x4+i4£@m:
1 1
A) 9= B) 2-—
A) 9 (B) 5
1 1
C) 9— D) —
©) 5 (D) 5
B 1
53. g&x—ﬁ,mx4+x—4ﬁnﬂ3ﬂwﬁq
1 1
A) 9= B) 2-—
A) 9 (B) 5
1 1
C) 9— D) =
©) 5 (D) 9
53. aﬁx=\/§,?ﬁx4+i4€b‘fﬂ'|:[%:
1 1
A) 9= B) 2-—
A) . (B) 5
1 1
C) 9— D) =
©) 5 (D) 9
SPACE FOR ROUGH WORK
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53. Ifx = /3, then the value of x* + L is :

.’XJ4

1 1
A) 9= B) 2—
(©2V) 9 B) 5
1 1
C) 9— D) =
© 5 D) 9
54, A E-Y_Z org TV T2 gy,
3 4 7 2z
INEE! B) 3
© 2 D) 4
54, T E-Y_Zoger XY qgome
3 4 7 2z
A 1 B 3
€ 2 D) 4
54. FRE=Y =2 g XY £y aman wwim
3 4 7 2z
@A 1 B 3
© 2 D) 4
X y Z x+y+z
54. “=2=2 A T
qﬁ.% 4 7 2z ?
A 1 B 3
€ 2 D) 4
54. Ifgzzzg,the wisequalto
Z
@A 1 B) 3
€ 2 D) 4
SPACE FOR ROUGH WORK
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55. Were GOt 4yt AW W KCaoal 4t GifkG TS TRUT @I9RFET 64 | FRATCILHR I
T R2ICH! (=0 :
A) 13 B) 11
(C) 16 D) 9
55. BRI &TTF 7RIS FF (consecutive alternate) JAE @9 64, AE TCHJ Faoq
R
@A) 13 B) 11
(C) 16 D) 9
55. T B ST AR SRR Sreerman Sam 64 | S8R AreE fharfim smfmmn S
(A) 13 B) 11
(©) 16 D) 9
55. =R SHATTA Uehial T3 1 11T 64 7 | 370 & Tl DI HEAT 2 -
(A) 13 B) 11
(C) 16 D) 9
55. The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them 1is :
(A) 13 B) 11
(©) 16 D) 9
56. ~/0.04 ++/1.44 ++/1.69 ++/0.0009 I (2(= :
A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
56. ~0.04 ++/1.44 ++/1.69 ++/0.0009 @F N :
A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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56. ~/0.04 ++/1.44 ++/1.69 ++/0.0009 1 AT &=
@) 173 B) 2.03
© 273 (D) 1.03
56. /0.04 ++/1.44 ++/1.69 ++/0.0009 HIUFE :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
56. The value of 4/0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
57. TP & TR 45% J ST S LT GG 30% T AN | &I S @SR AR SoIo
ek
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
57. (5 TRANT 45% T GG TR 30% 9T AN | & 7wy @ Ty Alze
eI
A 2:3 (B) 3:2
C) 3:5 D) 2:5
57. WHE AN 45% 37 ACNEl WA IARNEATT 30% S @WE S | Afy a1 afy
AT TS A&
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
57. Tsh T I 45% GBI FEAT % 30% ° THIH & | Taell T hl gl H&AT § 31 & -
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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57.

45% of a number 1s same as 30% of another number. The ratio of the first
number to the second number is :

A 2:3 B) 3:2
(© 3:5 D) 2:5

58.

58.

58.

58.

58.

G5! 7eTq (S &1 91 98 B BfF RCetial (2fwet | &ites & o1 112 AW wellhre 46! 31’319
IR &3 AR BRI ©ie “112fee1, (ST Werihie 2! &1 1471 (2R :

@ 5 B) 7

(C) 10 (D) 14

98 5 f%F (toffees) «F 7ol (RCAR TCHJ 079 FC (ST 291 | HeI{0F &TSIFIG (R0, Toio
S TR 3289 BfF (toffees) TIFT | ToIbTS (RETME 71 R4 T -

@A 5 B) 7

(C) 10 (D) 14

8 A @8 BE®IHT 98 2 (toffees) T SIGMIA | & Srelii+ ZiamaT ATshHe!
AIE YHE BIETBRN IS 2 TF < AEE | Slelisd AR BeETsR
FafHRET AT ?

@A) 5 B 7

(C) 10 D) 14

Th THE H HS ASHi bl 98 ZIhAT 1l T3 | T o Tch TSh i, ASHI hl T&IT | &I T
<ifteat fireft | wgg o wreehl <l wE o -

@A) 5 B 7

(C) 10 (D) 14

98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the
group was :

A 5 (B) 7
(C©) 10 D) 14
SPACE FOR ROUGH WORK
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59. M cos 6= %, (S(® sec O I :

2 2
-b b
@a 22 B) -
b a
(C) +a?+b? (D) b
a+b
59. Wcos@Z%,Wseceﬂﬁww:
2 2
-b b
A) - B) —
a
(C) +a?+b? (D) b
a+b
59. gﬁcose:%,mseceﬁm\‘mw
2 2
~b b
A) aT B) -
a
(C) +a?+b? (D) b
a+b
59. qﬁcosez%ﬁﬁsecemﬁﬁ‘aﬁ?ﬂ:
2 2
-b b
@a 22 B) -
b a
(C) +a?+b? (D) b
a+b
SPACE FOR ROUGH WORK
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59. If cos 0 = %, then the value of sec © will be :
@ Yo ® 2
b a
©) aZ+b? D) >
a+b
60. Bl fqges “Rei (2 6 6.1, | fagehR FR123:
Q) 6.f2 (B) 6 .f.2
(C) 3w.f2 (D) /3 .f.2
60. 5 T fagrem «ifafy 6 or:fir: | fagefba vwaws ze ;
A) 6TLf2 (B) 6 T.f2
(C) 372 D) 3 w.fr2
60. HHH TRIS @ smrafrumfy @R fommen 6 o . Srveen o smenfRramts gt
59 ?
A) 6 @) B) 6 @.f1)2
(C) 3 @.fm)2 D) 3 @.fir)2
60. T guaTg B o1 afmT 6 BT B | Pigs 1 8w ©
(A) 68.1H.2 (B) /6 B2
(C) 3.2 (D) /3 @ft.2
60. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(4) 6cm? (B) /6 cm?
(C) 3cm? (D) +/3 cm?
SPACE FOR ROUGH WORK
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61. Choose the correct order to complete the sentence :
I. Ismelled the gas
II.  Door of my house then
III. As soon as
IV. I opened the front
(A I,IIL III, IV B) IL I, IV, I
(C) IIL IV, II,1 (D) HOL IV, L 1I

62. The following sentence is divided into four parts. One of the parts has an
error in it. Read the sentence and find the part containing the error :

“The movement which aims at
I
raising awareness about climate change, hopes
(II)
to bring people together to think about
(111)

what they can do for reducing harmful pollution.”
V)

A 1Iv (B) III
© I (D) 1I

63. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

64. Which among the following options is correct ?
(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.
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From Q. 65 - Q. 67 : Insert the correct options in the blank space :

65. On the moon, air because the Moon’s gravitational field is too weak

to retain an atmosphere.

(A) thereisno (B) where no
(C) no (D) 1sno
66. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

67. In 1850, Yale University established Sheffield Scientific School,
(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated

From Q. 68 to Q. 71 : Choose the correct pair of words which are SYNONYMS to

each other :
68. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
69. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
70. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
71. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant

From Q. 72 to Q. 74 : Choose the correct pair of words which are ANTONYMS to

each other :
72. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
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73. (A) Advance — Retreat (B) Abandon — Desert

(C) Elevate — Raise (D) Value — Success
74. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 75 to Q. 80 : Choose the correct options which best explains the meaning
of the given idioms :
75. “To split hairs”
(A) To quarrel bitterly
(B) To complain about every small detail
(C) To argue about trifles
(D) To study every detail minutely

76. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently

77. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk

78. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

79. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly

80. “Bird in hand is better than two in the bush”
(A) Probability is better than possibility
(B) Certainty is better than possibility
(C) Possibility is better than probability
(D) Probability indicates certainty
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Q. 81 I 51 Q. 83 T : Fwferi¥e BIfKG! e fofwol @ R =ifE ATRF T =% ol
GIiTS TGS | (15S WG IR KPS el 1 |

81. (A) 2837 (B) 17651
(C) 3925 (D) 9762

Q. 81 — Q. 83 : 5 I9TS [P N Fo=H Pt AP KO T Tt FCa0z | G G12
T T@ofS 73 ?

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 81 i w= Q. 83 fam .

TMERTE EH TFs TETH (options) T g1 HIME ST Rag=g (Pattern) Si T& BRATI
3T ST HIFE Gl S 81 | & Qieliard TREs T AR |

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

e : I T 81 ¥ 83 : FfcTfgd = foshedi # & iF U foniy Yo # 99 & 3R safee T
TE ST & | THE ¥ r5eia fashed bl ¢¢ |

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 81 - Q. 83 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762
225 100
82. &) 5575 B Tas1
169 289
© 2744 D 5832
83. (A) T (Emission) (B) &v3q (Pollution)
(C) 7@ (Contamination) (D) ToEeRe (Adulteration)
83. (A) fsfaw (B) &
€) w34 (D) ToSERRe
SPACE FOR ROUGH WORK
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83. (A) IR (B) T

(C) el @ (D) WIS T AR
83. (A) I (B) Sy

(C) U (D) fuerae
83. (A) Emission (B) Pollution

(C) Contamination (D) Adulteration
84. eme bae fqeed o 7Ry e 41 :

A) 12 (B) 18

©) 22 D) 26
84. <G el oq (It Tagres 7Rl (4iTer @ I -

A) 12 (B) 18

(C) 22 D) 26
84. ¥ HENITE AHEY @AY § 2

A) 12 (B) 18

© 22 D) 26

SPACE FOR ROUGH WORK
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84. & 3rrpfer § it it wE Fra Hfere -

A 12 (B) 18
(C) 22 D) 26

84. Find the number of triangles in the given figure :

A 12 (B) 18
(C) 22 D) 26

85. T igdl, Aleterl, @ftal
93 HTPTIRI TET 55 TIFFOE afsfiiie TR #[1 fbawh! fbere 1

A) (B)

©) (D)

SPACE FOR ROUGH WORK
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85. TS forgl, Aercl, @Fl — €3 MIMSBTAR TEIF TRFE SeFeeid efsliias a1 Bab
oo 54

(A) (B)

©) D)

85. UMl (Classes) BRI HTEE AT HHIGRE §3HEEET AT BRARIT THRa! 1R |

(A) (B)

©) D)

85. 3T TG o Tg=H i SNl A TR 11 o 1=l o HEYi hl FAIH &Y § ST 2 -

(A) (B)
©) D)

85. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sr1 Lanka, Asia

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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86. IS “15® ifrel Qe ATl WF ARl TR FEE $vaee =ifz =ifewt | AR
(T @ RO 2ITH! ©I2T SRS #IRTR | ARSI @I 9 S e ?
(A) W B) =
(C) T3 (D) Mo
86. IS GR TS| FFECE AN QPG S QPG MG @9l PR | ARl (74e] @
STROR TR AROR AT SR | AT FEMCE I I AR ?
(A) Tl B) &
(C) Tex (D) =¥
86. @ftar 3 Afsrarn Giaama faamr arfire m g e | afearn afaf aree
Tttt sfaf 3 | afsdren 59 forfe arat s e ?
(A) grer (B) 9T
(C) gt (D) A
86. @ TR Hiord gorg sii=l H Teh gok o ITH 31 & & | Hierdl + @it fop @itat o =18 3T @l
1 B oft | Aferar fope feum 6t 3R 3= oft
A) gl (B) W
(C) W (D) ufvem
86. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
87. M ad20% I T b =, TOCS 203 b% I AN 2T :
(A) ad4% B) ad6%
C) ad8% (D) ag910%
87. IMa G 20% b T S 20 9 b% AT TJ :
(A) a994% B) a996%
(C) a <9 8% D) a 49 10%
87. Jfg a™20% 31 b S 37ea 20 F b% 1 ST FHE ST |
A af4% B) afi6%
(C) afi8% D) af110%
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87. AT aHI120% b, AW 20H b% TUFR :
(A) a 4% (B) a1 6%
(C) a1 8% (D) a® 10%
87. If 20% of ais b, then b% of 20 is the same as :
(A) 4% of a (B) 6% of a
(C) 8%ofa (D) 10% of a
88. BIAE! I (FICH! If 2T AT #1a1 @ISl 3¢ ATHATFE @t Fieitet 7T ZeTs Az ?
(A) D (B) W
©) R D) E
88. I @& 3% AN I (A AT (7th) FE GR TH F (ATF @ITST (16th) Z
R ?
A D (B) W
©€) R D) E
88. IS M &« B@I3T ATl e ot smfafee fefasme g 2
(A) D (B) W
©) R D) E
88. 3TUS{ TUHTAT 1 shiH HT 378 T ¥ HicTad 318 o 970 O e €I W fRq g 7
4 D B) W
€ R D) E
88. Which letter of the English Alphabet 1s the seventh from left of sixteenth
from right ?
A D (B) W
©€) R D) E
89. <Ibe o1'al Wbl Io© SN (2 I T2 | oA, @IfeS AT 7' aAfereq Aes Sz | I
[T ANSTFIE SR | @IS T ST AE | ST 0% PIFIE (@i A2 ?
A) = (B) *IT3et
(C) Taifze (D) %S
89. “IbeH (=(F JEIFIE JVAZ TR ICT TI(Z | e @ITS G2 TS W& ICR | 3[4
IR AN, GIfES TR IS | (F TSR 09 T I0T0R ?
@A) = (B) *IT3et
(C) twife (D) weIere
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89. &N FETETH WY sEATd T aF | Ufgd 3 gafsraf Toe steran e |
HAST A ST 3 Ufgasn gaafy smfafy e | st smrerfoemme |k
e 2
A) gad (B) =HA
(C) Ufga (D) cwisa

89. Ui TTSeh Ueh B H Ueh GER ol HTHHT hid §U SIS & | 3791, Ufed 3R grersiia o o= & | goH,
AT o T3 3TR &, Ufed, Yo o 913 3T 7 | 3T % 31k G A 31 8 7
A gt (B) =HA
(C) fed (D) <ot

89. Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit

90. 9T NG (ST (T 3 =T TIeT IF (T6F RPT (97 @9 I bifee | W 3
2T 1R (D6F 7@ RPT 15 I29 &, (OB (98T 919 T T (7% —
(A) 60<=9 (B) 514%1
(C) 4892 D) 45929

90. TG EIF SIF TR (AF (o IV IT G OIF (R G R 1 T | AW 3 I0M
4 O (RCETH TP 15 9977 =, (4 O F T T201 T ?

(A) 603F (B) 51 3ITF
(C) 483 (D) 453
90. T wHREn foft fofafrges smR 3 A s maft feasen gg 4 @ i | Jfe

TraTsen SEsT FER AW e 15 TER s, § gE ot s snirarese
sq ?

(A) 60 FER (B) 51 &@R
(C) 48¥MER (D) 45 FER
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90.

90.

T 3TTEH 379 Ut & 3 Tt 981 8 37 3104 9 | IR A §e1 7 | Afg 7 3 9 &g 15 9
1 EI AT 8, A1 I5h! Tt hl TdH AT 2 -

(A) 6094 (B) 51ad

(C) 48em (D) 45a9

A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :

(A) 60 years (B) 51 years

(C) 48 years (D) 45 years

91.

91.

91.

91.

91.

I ‘HONESTY’ 3 5132468 5@ &iF ‘POVERTY’ F 7192068 f25id for4i =3,
(OB UCR6! (FICTE ‘HORSE’ 3 fe19 #iifarq 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

I ‘HONESTY’ 5132468 20T @14l 27 @R ‘POVERTY 7192068 B0TE (#1<1 27,
SIEE 3T A0S ‘HORSE' 5 ©Itd @14t i 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

Jfc HONESTY @ 5132468 < faeml 3 POVERTY @& 7192068 i
feemse s v 39 g/ (code) ST HORSE @it At fertaimm 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

Ife HONESTY ! 5132468 31k POVERTY i 7192068 forat Srar &, af 35t g o
HORSE ! for@r s 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

If HONESTY is written as 5132468 and POVERTY 1s as 7192068, then in the
same code, HORSE i1s written as :

(A) 50124 (B) 51042
(C) 51024 (D) 52014
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92. 200 f. == 100 . TR 739 @IS TR 20 ./ G O 22 f./ GlEes @5
SGAE ©ICF 91 T R | AW @198 73+ G5! veis 9ife 1, (ST8 9T STLee
o FCe PN A &S 2] ?

(A) 212 Y (B) 135 %
(C) 150 Yy (D) 120 %

92. 200 5 =181 @R 100 RER =73 12 @@191E MISIeTeIT @ @i EIpee 20 [oF
R &fs ety 22 bR oifets vertz | af (G 736 IaRE @2 iftd B @ G
AP SNOF PICS TS TR #A9[(F ?

(A) 212779 (B) 135 01te%
(C) 150 PR (D) 120 01

92. foImm S @AW ®IA 200 1. 3 100 . Tiema Ww@mfs T Trafsn SEm 20 fir/A.
IR 22 .78, | Ife Tamfs e v foma @riee, 98 Meamaf 3919 o aiE a@wReme 2
(A) 2129, (B) 1359.

(C) 1504. (D) 1209.

92. 200 HieX 3R 100 HeT &l g ¢+ HA: 20 Hey/Tehs AR 22 Wil /Ahs il @ T TR
T T 2 | A I wh A fown =@ W E; 1 3% U g 1 R S H fopa e @ 7
(A) 212 T%s (B) 135 T0%s
(C) 150 &e (D) 120 TS

92. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.
93. TN O FRIERT *[l 2 6.5, 77 i T T ©F e el 9k 8 .54, am |

O fes w9 sEmeT 2 6. e afwaved 4 .M 3R | sreEe o dlewie gk
1 .10, SIfoas 3@ =i 7o) @bt Sofs 23 | o FRIFR I Qb Ie|

TN S 7R 2R
A) 25 M. (B) 13f5.f.
©) 12%f. (D) 17 ..
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93.

93.

93.

93.

Fhret R wfe @ @G 2 fRfve [ fies, 8 faifis o Tfes, Sirvm 2 [eefie
1t @<k SRR 4 fRsfire whwa e T | SROIE oF AW s (e i 1 feefiis 2%
O SRICT CTRA | SRR S[PT @92 O SIRFGT W04 FALFRSSN AT 799 (aerial
distance) 24 :

(A) 25 feefis (B) 13 fwefis

(C) 12 fFefus (D) 17 feefis

HiqarET TaH AEgfaHmE e 2 6./, oemn | sfwm e ey 8 km
(fop.f01.) SrermT Tl 2 fop . fiy. ermeersma 3R o Wienf¥ 4 f56. 1o, ememn | e
forn armrfafer firféan 1 f6.fr. emamrmma et 77 3ma wgan | wfvarft gagfa sm fafa Tt
TSR TR SR (Aerial) STHATSAT SITER

A) 25 f.fu. (B) 13 f%.fa.

(C) 12 f%.fu. D) 17 f%.fa.

SHigar 319 HwETerd & 2 fop.wft. qd it 3R =erdt 7, bt 8 fop.ft. <€ 3w otk fose 2 fop .
e <l 3R 3R Rt 4 Fop.7ft. cferor <Y 3T wrereh B | 3fa W o aTd gedt R 3N 31 3rdie
T Tga o foTe 1 o 1. Icrcht B | hicar o rifer 3R 3Heh UEHS o &9 =Haw a5
KU

(A) 25 5.t (B) 13 f.1t.

(C) 12 fep.1t. (D) 17 .1t

Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km

(C) 12km (D) 17 km

94.

94.

35 : 6 9 3] oRRCT el 121 I T 53w 34l |

A) 85:9 (B) 64:8

(C) 26:5 (D) 120:11

RIS IR THTID 35 : 6 97 T G2 O T of foiibe) 34 |
(A) 85:9 (B) 64:8

(C) 26:5 (D) 120:11
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94, TEEMKE IFNHT TG YRRG, T IHTHT 7S 35 @ 6 S&IEd THIRTHT |
(A) 85:9 B) 64:8
C) 26:5 (D) 120:11
94. U TEIAT W 1 T i (W I TS I TR FalId g SH 35 : 6 7 |
A) 85:9 B) 64:8
C) 26:5 (D) 120:11
94. Select the number pair in which the two numbers are related in the same
way as 35 : 6.
(A) 85:9 B) 64:8
(C) 26:5 (D) 120:11
95. feraferire =wea1q Fewicerl ol wgfe)d e el :
(1) TRI (2) N (3) R
(4) I (5) fempiel (6) I
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
95. G SAl¥S *wSEE Ihewd g3z Lol s :
(1) w9 (2) T (3) WS
4 3@ (5) feBIol 6) T
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
) 5,4,1,2,3,6 D) 1,5,2,4,6,3
95. TTERITE BT TIGIathRE! ST 3T SR TR e |
(1) s (2) SgE
(3) HISEEE™ (4) 3m@
(5) TR ARY™ (Low Pressure) (6) CEMI
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
95. frfcTRad SIsgi ol difeheh TR 37Ul 3hH & Safeer shifsTT -
(1) sea (2) 35U (3) deTE
(4) e (5) HHCIE (6) e
A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
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95. Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood
A 1,5,4,2,6,3 B) 5,1,4,2,6,3
©) 5,4,1,2,3,6 D) 1,5,2,4,6,3
96. P 9T e AT IS Siie % % iwwoﬁﬁmmzxwﬁ | fqoeGE
I3 AI9e qred (S -
A) 52w.A (B) 487.f.
(C) 44T, (D) 40 .1J.
96. P fqgre A Sl %:%:i 3R 7 (perimeter) 104 GGG | fagrem
RIS 20 2T :
(A) 52 GIFGHGR (B) 48 TIFGRGR
(C) 44 TIFGRGR (D) 40 TIGRGE
96. HHFH IETATHH AR FIATEHT ISR %%i IR ARfIfG fmmn e
104 9.7, | 9 srEnfRrym Temafis smanfRm Sme
(A) 52¥.f (B) 48%.f.
(C) 444.f. (D) 404.fa.
96. e TS <l YSI3AT T 3FAITA % % i 2 3TN 31 9feT 104 3.1, 7 | B i ge@ et
Y
(A) 528 (B) 48@.d.
(C) 44T, (D) 40 @1,
96. The ratio of the sides of a triangle is %%% and its perimeter is 104 cm. The
longest arm of the triangle is :
(A) 52cm (B) 48 cm
(C) 44cm (D) 40 cm
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97.

97.

97.

97.

fermiz g2 forsia 63 e e, T G (2R B e w9 20 e i
& =re e | (GeR I il 45 M e femiE fbemsie sl | 2R Srmm
ORI 16 e ST D e e e | 7 f&mig (reai B e S,
(08 DRI ' =11 91 w051 23 2

(A) BN (B) =feaiq

(C) ¢1eIm (D) TFEEE

forl @ HAMSE (movie) BRFG MTH (booked) FW(= IM e 4 HaLEG
(trailer){%ﬂﬁ@?%ﬁﬁ@w 20%‘1’@ | BETbCad evi*e 4afbq (trailer) 45
e #[ (1 Be1ab (movie) (CAfRe | 2R beTfobalt (T4 16 el <{ed Seov@is (movie)
e ciame | 7 @1 9} BRes =9 (booked) TS O ARRT @l MG
BoIDbals Y& CoIeRe ?

(A) ®FE (B) =f=a
(C) A= (D) o
B = v wraygAt ffora s s aay M trailer @ fafa fefera srmmafs wm 20 o

fegeEEEEH | ool § 9EYTE! trailer GENIH™ 9HH 99 45 & 3@ A | 9
grEagE! R T aEi 'F 16 @i fogam s | Jfe 99 e @rfa o aayEat

AT, S YA TR e T [T 2

(A)  IHSR (B) wfHem

(C) TeEmr (D) HTAER

T3 = weh fohem =1 feene g fopan forerept ¢ foohe g ot & 20 Ter wger ST foman o o |

SR el B9 % 45 feT a1g 97 fhew <@t 7 | fbew 38 o7 9 16 o7 weat feefiar g8 oft i
T B 7 fohew ot oft | Twarg < fopa e fvem fefiar 53 off 3R 3w Tomm 1 fewne 9
SRR

(A) IEHAR (B) wifam
(C) Teram (D) HTEER
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97. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
Q. 98 I 7_ Q. 100 T3 : Sfeyoif¥® 7t / 3k / *=lb vl 311 :
98. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18
Q. 98 to Q. 100 SRS Rl / 7 / *fat Cfieer (&1 Pl :
98. 5:27:9:
&) 83 (B) 81
(C) 36 (D) 18
Q. 98w Q. 100 f&m :
MR SERH/ERE/AeEg! AR
98. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18
9 EEAT 98 | 100 Tk T HET/IT&IY/IeG AT ShifTg, |
98. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18

From Q. 98 to Q. 100 : Find the missing numbers/letters/words.
98. 5:27:9:

A) 83 (B) 81
(C) 36 (D) 18
99. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
100. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
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